FUKUTA"

7[,@/614,0(77/ W/ thin

______
||||||||

( < I\
v 24 |
- . Y
[ ] }
!
N T —— Y U "
J = r
¥ 4 ~_ N .
] -

(i | |
i 1 4
| ; - f B i«

" > 1D e "

b X = v I

! i = A | |

TS () | '
= b o ‘ '..: |
{ - >
N
b i
: A

)
1 HPI,-,

Ex eb lIC T3 Gb
Explosion Proof Motors

ZRRIBHIBREE 161, 1€3 series

€ n° ?IEI%' @

www.fukuta motor.com.tw




FUKUTA®

INTRODUCTION HISTORY

1988 &£ 4 BARMIL ©

1990 F REMUBMA FER > BHEEESCEER -

1993 F 2EHE—KQAWE EEEREE o

1996 4 &iB 1S0-9002 ERAER:E

1997 F 2EH—KEAWE [TRRERRSE -

1) BISREDTERTEUNER RRERRSBE) Z/H%E -

2). RRTIERIBIB CE MARK ERlN 2575055 o

). TRARERREE RESEGEHEMRRERERRRS

). REMIBEERERRRERIER (ETHEEROEBRAR) Bk FESLERS -
). TESAEREE RESTEGEBRITE
)
)

1998 £

2000 £

gl ¥
TRIBAIRT - BRBEERERABKEER - BIRZIZ) - JIRAN - UEE
FRAER > REETHEZ ERERBEMERAIETHE - RERQR 3

2001 % (2). T100HP % 150HP RRFEMERSIE HISATA LRI SBIR 5HEHHE)
. RRVIERIBIS CSAMBARERZHDE

KRS 1). THERARES SEE—E A SRR -

(
2002 £ (2). BEATHRE—BSFERE
(

e 3). i@ 1S0-9001 EIFS PR ©
HIUEB) > HFEMER « ADREAZRZ B - BEAM - B (). TERERTESEEE) RSMADLIRE CITD HEE) -
SRRV TAFIREE ; BMLEEY » RIIERER  ROOES - HAIEE - A5 (@ 2003 £ (2). AEEH/AEVH/AMEH/AMVH RS RIS SEE SR
ASE 82 o (3). MFEMRREEARIE REE+_ELEERITS
2004 & (1). T250HP % 400HP RUFEMRAREIE) HSCE IR SBIR 5t# b -
N (2). TRAFERIBREIE Frame 225 SRES+=EAEBRITE ©
Eﬁz 1_ 2005 4 (1). 84« ZEEHBEFED T TRNBEBH - BMERE (2B ) RITAER -
WIEHE > MERNERERBEMLE - AR EERATHEREZ (2). REMIL LBEBXBRIRARAT ( LEHEEEHAME ) > PnBEEsEEE -
[RR » FERAONRMETRE  BEEMEAZERERE 0 UEMHE - (1). REFE2 AFIBBFEARFME CCC BRHIMEERTF
(2). EREASTEEDIRAMTER SBIR 5138 2004 FEGBRITHER
INNOVATION isto create aggressively, pursue customers 2006 &F (3). FUBTREARARBER SRR AL
satisfaction and maintain the company's ever-lasting prosperity. We strive (4). RIEREREATHE 2006 FEERBARELS -
for creativity and innovation at all time. Based on the concept of customer- () REMISBEAZRGBRAR - BRRERERAIRSEERL o
Yy p
) . e ) (6). RABRTHMARBEESHNE -
oriented, we provide satisfying products and service to our customers so
that we can make profits efficiently and maintain the coampany's substantial 2008 & BUSEEBIRBIFENESR [skw EERNBBH ZHER -
prosperity. (1). EEERKRABRADBEATHRENKEAR LM > FrtREE) BRI HFEEE
2009 £ BUER ©
ENTHUSIASM is to help each other enthusiastically and achieve (2). EEHMERHERATSHEBEAT T EEHE (Luxgen) ERHFHE -
the win-win goals of customers, company, and individuals. We respect (1). BERMIIIE HERRE - SAEEEACEER o
humanity and make a harmonious work environment. Helping each other 2010 (2). BN BB E LB ARSI o
enthusiastically means to care about our customers and colleagues so that (). BB EE BB AR L ER AR EE o
we can have prosperous future of customers, company, and individuals. 2011 % (). BRAEE R [E—EERELANE -
(1). 2E At 75 E R RIS E o
HONESTY isto offer the society excellent products and service. In order 2012 £ (2). KELFIS FBRAIE: o
to meet the demands of society, we continue to make efforts based on the (1). PM KBRS FIREE o
honest principle to provide services and products of best quality and less (2). MBI T SR R SRS > AIES IR o
cost so as to make contributions to the society. 2013 &F (3). EWEAEH AR 2IRBEGEE -
(4). WELHEBFE—E SRR EEA BB o
(1), REQERE B PR EREHBEHRE -
2014 & ). 2RREBITER/TGUMERBTEE $=+2F>ﬁ 5t o
(3). BR{S4EE] TUV SUD IE3 BREBEEF
(4). BEHEEARERRA °
(1). EEREDTERBHETANMBEERBHATELAINtE T LK -
2015 F (2). #ELCEIE 24 BEERERE -
3)

3). ERELHERSMARE R REE 18 EEAK -

2016 F£ #MEZESHRRE -SREHHARELEREHT

2017 F EUSRBCSEERE TS-16949 REBEARIE o

2018 & SHBBEE—HMEERSA

2019 4E HNfS IATF 16949 3338 o

2020 &£ ESULEBE -

(1). SHSRMEE 55 — HAMIAARIBIETCRRA » MHEEE] IDA ~ Muse ~ 8E] ICONIC ZEIREHRR
BTAEE o

(2). ERKHERIEEGIRE ©

(3). B8 IECQ QC080000 223 -

(1). AAANEFERMETRMRAZESH -

(2). TEAA B EEEL R ERERE o

(3).

(4). Bx

(5). B

2021

202 % 3). ODM BENERAREMIKE ©

4). BX{8 1SO-14001 ~ 45001 333% ©
5). iz TARRITAEL - BREARA590

FUKUTA



SRIAMRGERSEE

Characteristic

b=

=R

&

Specification

&8 Motor type

ZRIHIRE SRR EBENME
Increase safety Ex e AC motors, multi-phase

X sH&#% Design Standards

EIFRETZE® (IEC60034 ~ IEC 60079-0 ~ IEC 60079-7)
hEEREERIZEE (CNS 14400 ~ 3376-0 ~ 3376-7)

B Voltage

220VZE600V(F#80); 220VE480V(F#90~200) % E fth B EE
220V-600V(F#80), 220V-480V(F#90~200) or others

$8% Frequency

60Hz

#1157 Output « IE1:0.185~45KW = IE3:0.75~45kW
R.P.M. (Syn.) = 3600~1200R.P.M. (2~6P)

BFRIZEE Rated Time = E@EEET - S1(Continuous), MCR(S.F. 1.0)
&S Frame = 80~200L

{Rs€5 =X Protection Enclosure | = IP55

ZaA X Method of cooling

2% 1C411 BHEINESED = 1C411 Totally enclosed fan cooling

Z# 73 Mounting

IKERIEEREER3 (IM 1001) » (BRI ZEV1 (IM 3011)
Foot mounted B3 (IM1001) Flange mounted V1 (IM 3011)

{ER1&M Usage Conditions

RREAKEEHE ; REEER > BEHOEU LA THBREINR

Use an approved cable connector; wait for at least 6 minutes after power-off before
opening the device casing.

BEERBISF R RETE TR

Never open the casing in hazardous areas or without disconnecting the power.
ERBEAEBEAFREEFMRE

Follow the voltage and operating mode specifications as outlined in the
installation manual.

REBVAERWARFBAIER

The equipment must have a cooling fan installed to operate.

ERIRIR
Ambient
Conditions

%FfR Place

Zone 1 Hazardous

/&8 Temperature

— 20°C ~ 40°C

RE Humidity

HEEHRE 80% WU T (RB4EE)
Relative Humidity less than 90% RH(Non — condensation)

Z5 Altitude

7 1000 AR Less than 1000 meter

T F4B#5: Stator Insulation

FARABAS 3¢ HARARR

= FclassorHclass

B A
apply to

Br IR S 4R/ B IRIRIR
Explosive atmosphere/
Hazardous area

Ex eb IIC T3 Gb; iM% Zone 1 & Zone II, Goup II
Ex eb IIC T3 Gb, suitable for Zone 1 & Zone I, Goup Il

EiR Power

BEREENER : £10% LA = Voltage variation:within £10%
PESREBN  +5% LA+ Frequency variation:within £5%

IR e B W - MEBEHEZ MTE 10% MR, [BSaREERE 5%UR
The total value of the absolute value for two points within 10%

tEB A X Starting Methods

EEBEEMEE Y/ ABS
Full voltage starting or Y/A starting

##75 R Coupling Method

R ERESED ; 1B 2 4% 30HP LUk - Rk Ehas % E)
For belt — drive apptication; however, for 2 Poles 30HP and larger spec., direct —
coupling service only.

#8756 Rotation Direction

85 Available for CW or CCW rotation.

FUKUTA



FUKUTA®

Character List

SRIBMBRERIEXR

7.5

10

15

20

25

30

40

50

60

sE(N

2

0.185 4

6

2

0.37 4

6

2

0.75 4

6

2

1.5 4

6

2

2.2 4

6

2

3.7 4

6

2

55 4

6

2

7.5 4

6

2

11 4

6

2

15 4

6

2

185 4

6

2

22 4

6

2

30 4

6

2

37 4

6

2

45 4
ote):

3430 63

1650 63

1090 71

3370 71

1660 71

1130 80

3450 80

1730 80

1140 90L
3460 90L
1730 90L
1140 100L
3480 90L
1740 100L
1140 112M
3450 112M
1750 112M
1150 132S
3490 1328
1770 132S
1150 132M
3510 132S
1770 132M
1180 160M
3550 160M
1770 160M
1170 160L
3520 160M
1760 160L
1170 180M
3520 160L
1760 180M
1170 180L
3520 180M
1760 180M
1170 180L
3520 180L
1760 180L
1170 200L
3545 200L
1760 200L
1170 200L
3545 200L
1770 200L

(1) AZ{EREIEC 60034-1
(2) U EBEEES > B8RS

FUKUTA

o

P

Efficiency
%

62.0
66.0
64.0
66.0
68.0
66.0
76.0
84.7
77.0
81.5
81.5
84.0
82.5
85.5
85.5
85.5
85.5
85.5
86.5
87.5
87.5
87.5
87.5
87.5
88.5
89.5
88.5
88.5
89.5
88.5
89.5
91.0
90.2
89.5
91.0
90.2
90.2
91.7
91.7
91.0
91.7
91.7
91.7
92.4

Factor % 380V
75.0 1.04 0.60
65.0 113 0.66
61.0 1.24 0.72
86.0 171 0.99
78.0 1.83 1.06
70.0 2.10 1.22
90.0 2.88 1.67
80.5 2.89 1.67
64.0 3.99 2.31
91.0 5,31 3.07
76.0 6.36 3.68
71.0 6.60 3.82
86.0 8.14 471
80.0 8.44  4.89
74.8 9.03 523
90.0 12.6 731
84.5 13.4 7.78
775 147 8.48
85.0 19.6 11.4
83.0 199 115
77.5 21.3 12.3
93.0 24.2 14.0
84.0 26.8 155
80.0 28.1 16.3
90.0 36.2 21.0
83.5 38.6 22.4
83.0 39.3 22.8
91.0 489 28.3
85.5 51.4 29.8
85.5 52.0 30.1
87.0 62.4 36.1
82.0 65.1 377
84.5 63.7 36.9
88.0 [E% 424
83.6 75,9 439
79,5 80.5 46.6
91.5 95.4 55.2
88.0 97.6 56.5
87.0 98.7 57.1
87.0 123 71.0
84.5 125 72.5
84.0 126 73.0
90.0 143 82.8
86.0 149 86.0

(Examination method according to IEC 60034-1)
773840 © (All data is subjec t to change without prior notification.)

kg — m

0.053
0.109
0.165
0.107
0.217
0.319
0.212
0.422
0.641
0.422
0.845
1.282
0.616
1.232
1.881
1.045
2.060
3.135
1.536
3.028
4.661
2.082
4.129
6.194
3.020
6.056
9.162
4.153
8.305
12.49
5.122
10.24
1541
6.091
12.18
18.32
8.305
16.61
24.99
10.17
20.49
30.82
12.37
24.78

220
200
200
210
200
200
210
200
150
210
190
150
200
210
170
190

160
160
200
200
200
290
290
290
360
360
360
440
440
440
550
550
550
620
620
620
800
800
800
910
910

168
168
168
208
208
208
255
255
255
318
318
318
359
359
359
463
463
463
527
527

Max.
Torque

Inertia

250
270
250
260
250
230
280
280
230
280
280
220
280
260
230
280
260
230
260
250
230
210
250
230
240
250
230
240
240
220
230
240
220
230
240
215
210
240
215
210
230
210
220
220

0.0020
0.0020
0.0070
0.0020
0.0050
0.0085
0.0051
0.0100
0.0172
0.0110
0.0180
0.0580
0.0131
0.0425
0.0787
0.0450
0.0720
0.1420
0.0520
0.1120
0.1190
0.0680
0.1450
0.4150
0.1530
0.3100
0.6140
0.2080
0.3940
1.0500
0.2370
0.6540
1.3350
0.2830
0.7150
1.4330
0.3520
0.8080
2.5580
0.9050
1.5030
3.2360
1.0720
1.7320

60Hz

IA/IN

5.7
53
4.8
7.0
6.6
5.7
6.6
6.6
4.8
7.5
6.3
6.0
8.4
8.0
7.5
8.7
8.2
7.5
8.2
8.0
7.5
8.3
74
7.1
8.0
7.5
7.3
7.4
7.0
6.9
7.0
6.8
6.9
7.5
72
6.8
6.4
6.3
6.3
6.5
6.4
6.3
6.4
6.1

tE(sec)

I i il 2 2 i el
~ R RN N

(20N C, NG, BN, B C, INC, RN, BN, N C, BNC, BN, BNE) NNC, RNC, BN, BN BNC) Bo)]

[S20N0 (€]
SR

52
5.6
5.7
57
55
5.6
5.7
5.6
59



Character List I E3
TRIEMMIREERSITEER 60Hz

Output Full Load Character Starting Character MERE Inertia
Torque

F
KW |C|ency Powe: Torque Tozque
Factor% ™20v | 3sov | @ ~ % [220v [ 380v

3530 80 77.0 82.4 3.10 1.80 0.207 26 15 0.0071 8.4 5

1 0.75 4 1750 80 85.5 74.4 3.09 1.79 0.418 390 26 15 420 0.0120 8.4 5
6 1145 90L 82.5 69.6 343 1.98 0.638 195 20 12 265 0.0192 5.8 6.2

2 3500 90L 85.5 84.3 5.46 3.16 0.418 395 46 27 395 0.0130 8.4 5

2 1.5 4 1750 90L 86.5 78.5 5.80 3.36 0.835 325 51 30 385 0.0200 8.8 5
6 1165 100L 88.5 68.6 6.48 3.75 1.255 170 44 25 270 0.0600 6.8 5.2

2 3500 90L 86.5 85.6 7.80 451 0.613 390 70 41 400 0.0151 8.9 5

3 2.2 4 1770 100L 89.5 7.3 8.35 4.83 1.211 320 75 43 330 0.0445 9.0 5
6 1160 112M 89.5 72.2 8.93 5.17 1.848 170 57 33 265 0.0807 6.3 5.7

2 3540 112M 88.5 92.0 119 6.90 1.019 320 120 69 385 0.0470 10.1 5

5 3.7 4 1760 112M 89.5 87.5 124 7.18 2.049 225 110 64 325 0.0740 8.9 5

6 1165 132S 89.5 78.7 13.8 7.98 3.095 185 105 61 280 0.1440 7.6 5

2 3550 132S 89.5 86.0 18.8 10.9 1.510 245 140 81 295 0.0540 7.4 5

7.5 55 4 1770 132S 91.7 84.8 18.6 10.7 3.028 250 160 93 310 0.1140 8.6 5

6 1175 132M 91.0 76.2 20.8 12.1 4.561 230 170 98 345 0.1210 8.2 5

2 3550 132S 90.2 89.5 24.4 141 2.059 255 200 116 300 0.0700 8.2 5

10 7.5 4 1778 132M 91.7 83.0 25.9 15.0 4111 270 230 133 320 0.1470 8.9 5

6 1175 160M 91.0 79.1 27.3 15.8 6.220 240 210 122 285 0.4170 I 5

2 3560 160M 91.0 89.2 35.6 20.6 3.011 235 280 162 285 0.1550 7.8 5

15 11 4 1780 160M 92.4 82.5 37.9 21.9 6.022 245 290 168 275 0.3120 7.7 5

6 1170 160L 91.7 80.1 39.3 22.8 9.162 250 320 185 290 0.6160 8.1 5

2 3540 160M 91.0 91.8 47.1 27.3 4.129 240 390 226 290 0.2100 8.3 5

20 15 4 1780 160L 93.0 83.4 50.8 29.4 8.212 255 400 232 285 0.3960 7.9 5
6 1185 180M 91.7 80.8 53.1 30.8 12.34 240 340 197 260 1.0520 6.4 5.6

2 3535 160L 91.7 92.1 57.5 333 5.100 260 500 289 295 0.2390 8.7 5

25 18.5 4 1770 180M 93.6 86.3 60.1 34.8 10.19 250 470 272 265 0.6560 7.8 5

6 1180 180L 93.0 82.4 63.4 36.7 15.28 280 530 307 300 1.3370 8.3 5

2 3570 180M 91.7 87.9 71.6 41.5 6.005 225 560 324 280 0.2850 7.8 5

30 22 4 1775 180M 93.6 85.4 72.2 41.8 12.08 220 560 324 250 0.7170 7.8 5

6 1180 180L 93.0 84.3 73.6 42.6 18.17 215 590 342 285 1.4350 8.0 5

2 3546 180L 92.4 84.6 101 58.3 8.244 251 801 464 310 0.3540 7.9 5

40 30 4 1777 180L 94.1 81.4 103 59.5 16.45 284 831 481 353 0.8100 8.0 5

6 1180 200L 94.1 82.1 1019 59.0 24.78 210 620 359 240 2.5600 6.0 6

2 3555 200L 93.0 89.0 117 67.9 10.14 170 960 556 295 0.9070 8.2 5

50 37 4 1780 200L 94.5 84.0 122 70.8 20.26 215 870 504 250 1.5050 7.0 5
6 1185 200L 94.1 83.0 124 72.0 30.43 240 860 498 250 3.2380 6.9 5.1

2 3555 200L 93.6 90.9 139 80.4 12.34 160 1000 579 265 1.0740 7.2 5

60 45 4 1775 200L 95.0 84.8 147 84.9 24.71 215 1050 608 260 1.7340 7.1 5

st (Note):

(1) AZEERIRIEC 60034-1 o (Examination method according to IEC 60034-1)
(2) U LEEEEE > BAFITIBA © (All data is subjec t to change without prior notification.)

FUKUTA




EXPLOSION PROOF MOTORS

AEXE BAx¢

T RIRMRERZERT

Explosion Proof Motors

» Foot Mounted

Specifications #i #&

Output (HP)

(4P| 6P|
1/4 1/4 -
1/2 1/2 1/4

1 1 12
2,3 2 1
— 3 2
5 5 3
7.5,10 75 5
— 10 7.5
15,20 15 10
25 20 15
30 25,30 20
40 40 25,30
50,60 — —
— 50, 60 40, 50
= Remark:

1.Tolerance of Shaft End Diameter

1/4
1/2

g w N

75
10
15
20

25,30

Fig.1

Fig.2

Frame 8
63 1 100 28 120 141 135 96 80 100 40 63 8 134

71
80
90L
100L
112M
1328
132M
160M
160L
180M
180L
200L
200L

A D DDA DWW W WD

(O]

=

(AD)

(AC)

(HD)

(LE)

L

B+0.5

(BB)

(HE)

(LE)

(IO

112
125
140
160
190
216
216
254
254
279
279
318
318

375
38
355
45
45
46
46
75
75
80
80
80
80

138
155
170
196
224
254
254
300
300
355
355
398
398

163.5
175
201

218.5
236
273
273
334
BS8
381
381
423
423

148
167.8
181.3
189.3
199.3
249.6
249.6
281.5
281.5
308.6
308.6
3713
371.3

“D” : @11~ @28: j6 @38~ B48: k6 @55~ @60: m6

(HD)

O O
I
) mAA
A+0.5
)
(AD)
(Ac)
it

(AE)

A%0.5

(48)

B3 Dimensions R <+

108
126.5
139
147
157
185.5
185.5
217.4
217.4
244.5
2445
286
286

90
100
125
140
140
140
178
210
254
241
279
305
305

119
130
150
175
175
175
213
256
300
297
335
350
350

45
50
56
63
70
89
89
108
108
121
121
133
133

71
80
90
100
112
132
132
160
160
180
180
200
200

11
9
10
12,5
14
16
16
18
18
20
20
24
24

152
168
190
241
265
310
310
373
373
417
417
466
466



18 7 221 78

31.8

B3 Dimensions R

14.5
14.5
14.5
14.5
18.5
18.5

PF1/2"
PF 3/4"
PF3/4"
PF3/4"
PF 3/4"
PF3/4"
PF1"
PF1"
PF1"
PF1"
PF1"
PF1"
PF2"
PF 2"

240
273
325
367
388
448
486
612
656
669.5
707.5
773
803

75
83
94
104
118
139
139
184
184
198

197.5
225
225

Fig.3

Fig.4

(AD)

(AC)

(AD)

(AC)

(HE)

f |
® ) £
@ 0 8
- FURUTA -
S
\1\ \1\ .
(LE) 4 B£0.5 L c ﬂif’ BKK
i
N
o0
DH Tap
(\
i :
1 £D
= g
FKT =
= b
J}L e )
(LE) B+0.5 c n|
(8B) ST"/ ol
)
DH Top

HA

Shaft End

(0| E | e0
11 23 18

4

o o o O U

19
27

78
127
149

190/200
220

292.5/322.5 312.5/3425

= o

8.5 12.5 M4*10 6201ZLU 6201ZLU 10

11 16 M5*12.5 620277 620277 12
155 215 M6*16 6204727 6203272 16
20 27 M8*19 6205272 6204772 23
24 31 M10*22 620627 620527 31
24 31 M10*22 6306272 6305272 41

33 41 M12*28 630822 6306272 63
33 41 M12*28 630827 6306272 73
37 45 M16*36 630977/ C3(2P) 6307ZZ/C3(2P) 118
37 45  M16%36 6309ZZ/C3(2P) 6307ZZ/C3(2P) 138
425 515 M16*36 631177 C3 631022 C3 173/183
49 59 M20*42 631277 C3 631027 C3 213
49 59 M20*42 6313722 C3 621277 C3

53 64 M20*42 631377 C3 621277 C3

AR ERSERE, RERERIERENEEE , AABTRASTEM All data is sebject to change without prior notification.

292.5/322.5 312.5/3425



EXPLOSION PROOF MOTORS

AVXE iz

SRR ZE T

Explosion Proof Motors
Flange Mounted

(LB)
L
(L)
Il
T

(LB)

(LD)

T
E

(8]

(AD)

(AE)

Fig.1 Fig.2

Specifications #f #&

Output (HP) ErTe
-nnm e

1/4
1/2 1/2 1/4 = 71 2 165
1 1 1/2 1/4 80 3 150
2,3 2 1 1/2 90L 4 198
- 3 2 1 100L 3 2225
5 5 3 2 112M 4 235
7.5,10 7.5 5 3 132S 5 270
= 10 7.5 5 132M 5 270
15,20 15 10 7.5 160M 6 320
25 20 15 10 160L 6 320
30 25,30 20 15 180M 6 360
40 40 25,30 20 180L 6 360
50,60 - - - 200L 7 397
= 50, 60 40, 50 25,30  200L 7 397
FUKUTA = Remark: 1.Tolerance of Shaft End Diameter “D

2.Tolerance of Guidance Diameter “N”

142
162
175
196
219
234
268
268
319
319
355
355
399
399

4 Holes—S

137
149
1679
181.4
1894
199
249.6
249.6
281.5
281.5
310.6
310.6
370.8
370.8

B
[c]

DH Tap

109
1255
139
147
156.7
185.5
185.5
2174
217.4
246.5
246.5
285.5
285.5

1415
152.2
178
178
215
215
239
239
264.3
264.3

$AB

e

t
@AC

rams
(o)

imERAVE

H

FUUTA

[
=il

(L8)

(5]
[(8)

(LD)

90

T
E

s s

(AD)

(AE)

Fig.3

B5 Dimension R~

PF1/2"
PF3/4"
PF3/4"
PF3/4"
PF3/4"
PF3/4"
PF1"
PF1"
PF1"
PF1"
PF1"
PF1"
PF2"
PF2"

7 @11~ @28: j6 @38~ P48: k6 @55~ @60: m6
th7

268
272.5
364
367
428
448
486
612
656
669.5
707.5
773
803

K o

i

115
10
11
16
15
19
19
20
20
20
20
20
20

4 Holes—-S

ABERLLEBMNEE

238
2325
314
307
368
368
406
502
546
559.5
597.5
663
663

64
37.1
5.3
70.7
118.1
65.4
84.4
119.4
141.4
1479
166.9
139
139

NERT

245
304.4
295.5
401.9
393.5
459.6
485.9
523.9
648.5
692.5

705

743

809

839



(HB)

:=>“4 Bl
(LB)
©

(L8)
(L)

(Lt

]
=

==
=

(LD)

.
s
Leo |
I

3

BKK

Fig.4
Las 5 = (HB)
]
——
gAC
) .
G Ci - alcE
) 2
:4 . il
.
(23
Fig.6 S
B5 Flange R ~F Shaft it 718 R <
Shaft End Bearings
130 110 160 10 3 11 23 18 4 8.5 12.5 M4*10 6201ZLU 6201ZLU 10.5 -
130 110 160 10 35 14 30 25 5 11 16 M5%12.5 620277 620277 1255 =
165 130 200 12 35 19 40 35 6 155 215 M6*16 620477 620377 175 205
165 130 200 12 35 24 50 45 8 20 27 M8*19 6205727 62047272 27 31
215 180 250 15 35 28 60 55 8 24 31 M10*22 620677 620577 345 435
215 180 250 15 4 28 60 55 8 24 31 M10*22 6306722 620677 47 54
265 230 300 15 4 38 80 75 10 33 41 M12*28 630827 620727 69 s
265 230 300 15 4 38 80 75 10 33 41 M12*28 6308727 620877 79 84
300 250 350 19 5 42 110 105 12 37 45 M16*36  6309ZZ/C3(2P) 630727/ C3(2P) 124 133
300 250 350 19 5 42 110 105 12 37 45 M16*36  6309ZZ/C3(2P) 6307ZZ/C3(2P) 144 155
350 300 400 19 5 48 110 105 14 425 51.5 M16*36 631177 C3 631077 C3 179.5/184.5 199.5/204.5
350 300 400 19 5 55 110 105 16 49 59 M20*42 631277 C3 631027 C3 224.5 2315
400 350 450 19 5 55 110 105 16 49 59 M20*42 631377 C3 621277 C3 294.5/314.5 314.5/344.5
400 350 450 19 5 60 140 135 18 53 64 M20*42 631377 C3 621277 C3 294.5/314.5 314.5/344.5
CHRHERFETE, HENERSERRNEES , AQTERSB1TEL  All data is sebject to change without prior notification. FUKUTA



I

FUKUTA®

% ‘L nF ﬁn% E ,\IJ Naming Convention

AE E F XE 2 0007 26

REER BERA MEER By 8% 8 3& (334
Motor Type Installation method Efficiency Explosion Protection Poles Output Vultage

"Eﬁﬁmﬁﬁi ‘9'E§§Eii e,iﬂéi 5 iR ¢,BEEM§L_ ‘aﬂ@§ﬁ 16 !
Motor Type Installation method Efficiency Explosion Protection Poles Output
AE:RUFE B, 5555 E:BAZX Foot Mount F:IE1 XE: Ex e 2:2P 0001:1HP
Induction Motor, V:3I 3 Flange Mount K:1E3 4:4P R500:0.5HP

e Iron-casting Frame 6:6P R250:0.25HP
E &

Voltage

#55 T % Refer to the table below

%E E f{ %[;Eu. § Voltage Code Table

bt A Joege ot T
C3 220 26 220/380
C4 230 27 220/440
C5 240 28 230/400
D8 380 29 230/460
EO 400 2B 240/415
El 415 2C 240/480
E2 440
E3 460
E4 480
F2 550
F3 575
GO 600

ﬁg Hli_( mé:i—‘% TTT Nameplate

a B % DANSECREES O\
Bt
R Ex eb lIC T35 Gb
O TD120018 I/I : T secO
(IsT)y  ® ﬁEINEE. '

N 21 () e —————.

FUKUTA




FUKUTA



FU KUTA® sSHEEIRMHBIRAE
FUKUTA ELEC. & MACH. CO., LTD.
#2/AF) Headquarter /$A#8#& Tongluo Plant

BEEERIE RS 6 57

No 6. Tongke 6th Road., Tongluo Township, Miaoli
County 366, Taiwan (R.0.C.)

Tel: 886-37-980799 Fax: 886-37-980709

LMNMEE& FengZhou Plant
AEZARmHEEEMEE 301 & 2-1 5%

No. 2-1, Ln. 301, Feng Chou Rd., Shen Kang
Dist., Taichung City 429, Taiwan (R.0.C.)

Tel: 886-4-2528-8833 Fax: 886-4-2528-3979

STHRE HEEEMm

BEGPHHMES TRE 18 5%

No.18, Fenggoing S. Rd., Shen Kang Dist., Taichung
City 429, Taiwan (R.0.C.)

Tel: 886-4-2515-9568 Fax: 886-4-2515-9538

@& R

HEHELEET —R2995218
Tel: 886-3-3272909 Fax: 886-3-3275158

© 2025 FUKUTA ELEC. & MACH. CO., LTD. ALLRIGHT RESERVED. Z=HEB#RMHERAE © HR#EAA 2025. 06

AEEERR

BRamRELAA 201 & 158 112
Tel: 886-6-2098-236 Fax: 886-6-2085-402

H&REXZEO #HARHLYTK

T 556-0011 KFRAFARRATRERX HF A 2-10-70
BANEIS— O 22T — 19 P&

Tel: 81-06-7662-8687 Fax: 81-06-6777-7941

ikl

Website Catalogue




